24



24

1.0
-1 1.0
-2 1.0
=& 1.0

5%




(

)

1.0

1.0

1.0

1.0

(

)

(

)




10




95. m2
87. m2
87. m2
1.
87. m2
87. m2
87. m2
VOC 1.




L 1 87.7[ m2
(H=1,200) [ 1] 10007 129.0] m2
[ 1 172.0] m2
[ ]LGs 87.1] m2
] 6.
1 6.
6.
6.
83. m2
=100 11. m2
51.
=120 13. m2
1 60007 2.




14. m3
1. m3
7. m3
3. m3

12. m3

14. m3
1. m3
7. m3
3. m3

12. m3




[

1

9.0

=120

21.0

LSD

29.1

1.0




( H=1,300)

LGS (W=65) 300 12.1
(LSD )

LGS (65 ) 300 2.6
LGS (19 ) H1.5m 225 87.1




(G

)AL

AL

(AW-101)

[

(LSD1)

TB-101

=40

TB-102

TB-1(




4.0C 0.3 )

0.9

m2

4.0 2.0 )

10.2

m2

(6*6)

23.3

(8*8)

96.5

1.0

22.2

m2




[1 (B ( RB 11.1] m2
B (LSD ) 10.0] m2
(B ( 31.3




[ ] H=106( =20, 87. m2
( ) 40*30 133.
t=12 (THt=12 87. m2
t=2.0 [ 1 87. m2
(60000 ) 2.
[ 1 H=75 97.
[ 1 94.
( H=1,070)
t=3.0 t=12.5 (GL ) 101. m2
( H=1,070 )
[ 1 ( -- ) 161. m2
( H=1,300)
1=3.0 (THt=12 (LGS ) 12. m2
(LSD )
[ ] t=12.5 (LGS ) 3. m2
10*10 67.

10




t=9.5

(LGS )

87.1

m2

125.0

(4500 )

6.0

10*10

6.0

15

39.0

(W=150,t=19)

TPA

9.3

) =25

31.3

11




(K101)

W=1,900

6.0

1.0

12




10

6.0

2.0

10.

13




10




72. m2

66. m2

66. m2
1.

66. m2

66. m2

66. m2




L 1 67.3] m2
(H=1,200) [ 1] 10007 88.5| m2
[ 1 120.0] m2
[ ]LGs 66.9| m2
1 4.
] 4.
4.
4.
46. m2
=100 7. m2
25.
=120 1. m2
6000 2.
1 60007 1.




m3

m3

m3

m3

m3

m3

m3

m3

m3

m3




[ 1 4.0
=120 10.0

LSD 19.4

2 1.0

=120 1.0




( H=1,300)

LGS (W=65) 300 8.2
(LSD )

LGS (65 ) 300 2.2
LGS (19 ) H1.5m 225 66.9




(G

)AL

AL

(AW-101)

[

(LSD1)

TB-101

=40

TB-102

TB-1(




4.0C 0.3 )

0.6

m2

4.0 2.0 )

5.1

m2

6.8(_2.18 )

1.7

m2

(6*6)

15.5

(8*8)

64.3

1.0

14.8

m2




(CHD)] [ 1 ) RB 7.5

(CED) [ 1 (Lsb ) 6.7

(CHD) L1 A 2.6

(CHD) [ 1 ( ) 20.9




[ ] H=106( =20, 67. m2
( ) 40*30 93.
t=12 (THt=12 67. m2
t=2.0 [ ] 67. m2
(60000 ) 2.
[ 1 H=75 68.
[ 1 66.
( H=1,070)
t=3.0 t=12.5 (GL ) 70. m2
( H=1,070 )
[ 1 ( - ) 113. m2
( H=1,300)
t=3.0 (TDHt=12 (LGS ) 8. m2
(LSD )
[ 1 t=12.5 (LGS ) 2. m2
10*10 55.

10




t=9.5

(LGS )

66.9

m2

88.7

(4500)

4.0

10*10

4.4

15

27.6

(W=150,t=19)

TPA

6.3

) =25

20.9

11




(K201)

W=1,945

4.0

1.0

12




10

4.0

2.0

10.

13




10




123. m2

108. m2
11. m2
28. m2

112. m2

1.

112. m2

112. m2
112. m2




L 1 109.0| m2
(H=1,200) [ 1 1000 151.0[ m2
[ 1 196.0[ m2
[ ]LesS 108.0 m2
] 6.
1 7.
6.
6.
91.7| m2
=100 11.4] m2
53.
=120 37.1] m2
60000 2.




14. m3
1. m3
9. m3
3. m3

25. m3

14. m3
1. m3
9. m3
3. m3

25. m3




[ 1 6.0
=120 24.0
LSD SD WD 44.7

1.0




( H=1,300)

LGS (W=65) 300 15.3] m2
(LSD )

LGS (65 ) 300 3.4 m2
( )

LGS (65 ) 300 48.9| m2
LGS (65 ) W550*H1 900 1.0

LGS (19 ) H1.5m 225 110.0] m2




(G

)AL

AL

(AW-101)

(sb1)

SUS

[

(LSD1)

(LSD2)




TB-301 =40 3.0
TB-302 3.0
TB-303 3.0
TB-1( 3.0

1.0




4.0C 0.3 )

1.1

m2

4.0 2.0 )

3.4

m2

6.8(_2.18 )

6.8

m2

(6*6)

27.2

(8*8)

96.7

1.0

22.6

m2




[ 1 (CHD) 1 RB 11.0[ m2
(CHD)] 1« ) RB 11.5] m2
B ) 1 (LSD_,SD,SD ) 16.4| m2
(CHD)] 1 ) 9.8
(CHD)] 1 ( ) 31.3

10




[ ] H=106( =20, 113. m2
( ) 40*30 162.
=12 (THt=12 113. m2
1=2.0 [ 1 113.0] m2
(60000) 3.
[ 1 H=75 118.
[ 1 10*10 75.
103.
(  H=1,070)
t=3.0 t=12.5 (GL ) 111.0] m2
( H=1,070 )
[ 1 ( - ) 188. m2
( H=1,300)
t=3.0 (TDHt=12 (LGS ) 15.3] m2
(LSD )

[ 1 t=12.5 (LGS ) 3. m2
t=12.5(GL ) 14.0] m2
t=12.5 LGS 14. m2

28. m2

11




t=9.5 (LGS ) 110.

154.

(4500) 7.

ai ) 10*10 6.
15 42.

(W=150, t=19) [ :  TPA ] 13.

) t=25 31.
H=100 3.

30*30 21.

) H=1,085 2.

( ) W=225 16.




(K301) W=1,755 6.0
(K301) W=1,245 3.0
1.0
[ 1 1.0
( )
WD-1 2.0
9.

13




10

6.0
[ 3.0
0812 [TOTO:JSVO812LW7 ] 1.0

10.

14




10




105. m2
1.2n H=10m 49. m2
96. m2
96. m2
1.
96. m2
96. m2
96. m2




L 1 96.8] m2
(CH=2,700) [ ] 10000 288.0| m2
[ 7Lcs 96.4| m2
] 4.
] 4.
4.
4.
74. m2
=100 10. m2
34.
=120 1. m2
6000 2.




12. m3
m3

13. m3
6. m3
18. m3
12. m3
m3

13. m3
6. m3
18. m3




[

1

4.0

=120

18.0

LSD

19.4

1.0




( H=1,300)

LGS (W=65) 300 14.6
(LSD )

LGS (65 ) 300 1.5
LGS (19 ) H1.5m 225 96.4




(G

)AL

AL

(AW-101)

[

(LSD1)

TB-401

=40

TB-402

TB-403

TB-1(




4.0 0.3 )

(0.6 )

0.6

m2

4.0 2.0 )

(6.8 )

6.8

m2

(6*6)

15.5

(8*8)

64.3

1.0

14.8

m2




[1 (B ( RB 7.6 m2
B (LSD ) 6.7 m2
(B ( 20.9




[ ] H=106( =20, 96. m2
( ) 40*30 120.
t=12 (TDt=12 96. m2
t=2.0 [ 1 96. m2
(60000 ) 2.
L1 H=75 93.
[ 1 88.
( H=1,070)
t=3.0 t=12.5 (GL ) 93. m2
( H=1,070 )
[ 1 t=12.5 (GL ) 154. m2
( H=1,300)
1=3.0 (TDt=12 (LGS ) 14. m2
(LSD )
L ] t=12.5 (LGS ) 1. m2

10*10

53.

10




t=9.5

(LGS )

96.

m2

115.

(4500 )

10*10

15

23.

(W=150,

t=19)

TPA

11.

=25

20.

11




(K401) W=2,440 2.0
(K402) W=2,770 2.0
1.0

12




10

4.0

2.0

10.

13






